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How many significant digits are in the number 0.004506?

« A2
. B)3
. C)4
. D)5

How many significant digits are in the number 120.300?

e A4
e B)5

@)

)6
)7

O

Which conversion factor is correct to convert km/h to m/s?

A) Multiply by 1000

1000
60 x 60

C) Multiply by

B) Divide by 1000

1000
60 x 60

D) Divide by

Calculate (10.8 g — 8.264) and provide the answer with the correct number of

significant figures.

A)2.5g
B)2.54 g
C)2.536¢
D) 2.5360 g

What is the volume of a box with a length of 18.1 cm, width of 19.2 cm, and height

of 20.3cm?

A) 7.05x10% cm?®
C) 7054.656 cm?

B) 7054.656 cm®
D) 7.05x10%2 cm?®
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What letter A refers to?

Length of a Spring for Different Masses

16.5

16.0

15.5

e L

ne of best fit

o
o

Dependent /§
variable

14.5

Length (cm)

A)
B)
C
D

line of best fit

)
)

origin

Dependent variable

Independent variable

10

15 20 25 30

Mass (g) -{ A

35

Dependent variable

What we measure

Independent variable

What we change

Which variable is the one that we measure in an experiment?

A) Independent variable
B) Dependent variable

D

C) Constant
) Control

What do we call the variable that we deliberately change in an experiment?

A) Dependent variable

B) Constant
C

D) Control

)
)

Independent variable

Mr. Adham Zewin - 0505084733
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In a dataset analyzing how fertilizer type influences crop yield, which of the
following statements is true regarding the variables?

o A) Fertilizer type is the dependent variable.

« B)Cropyieldisthe independent variable.

« C

)
e D) Bothvariables are independent.

Fertilizer type is the independent variable.

A- axd=v
B- axd=v/t
C- axd =V?
D- axd =v/t?

Based on the linear velocity and acceleration equations, which of the following
equations is correct using dimensional analysis?

sl Lol plusianl Ao A C¥alaall S e dasdl £ )ludlly dedl 3olae e Ioleze]

d

r=—

t
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y=mx+b =
y=ax*+bx+c

a
EAs

According to the given equation below, what relationship exists between the
variables F and v?

muy?2

F=

A- Linear

B- Inverse

C- Quadratic

D- Can’t be determined

TV F opadiall o 435l Lo ¢ AW dslaadl ) Sladl

R

Which of the following equations represents a linear relationship between x and y?

e A)y—2r+3
e Bly—z?—4x+5
« Oy=13

e D)y — 3z

Which of the following equations represents an inverse relationship between

xandy?
ANy=T7—2z
B)y — 4a’
Oy=3

D)y — 3+ bz

Mr. Adham Zewin - 0505084733
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Accurate

Precise

-

-\Imprecise

Inaccurate

The following shooter is:

A Precise and accurate

B Precise and inaccurate

C Imprecise and accurate
D Imprecise and inaccurate

Which of the following is an example of a scalar quantity?

e A)Velocity

e B)Force
e C)Temperature
e D) Displacement

Which of the following correctly identifies a vector quantity?

e A)Speed

« B)Distance

e C)Acceleration

)
e D)Mass

Mr. Adham Zewin - 0505084733
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Which of the following statements is true regarding scalar and vector quantities?

A) Scalars can be added and subtracted like vectors.
B) Vectors can be multiplied by scalars but not added.

C) Vectors have both magnitude and direction, while scalars only have
magnitude.

D) Scalars can have negative values.

Which of the following correctly identifies a vector quantity?

A) 100 km

B) 100 km north
C) 100 km/h

D) 100)J

Which of the following best defines displacement?

A) The total distance traveled by an object regardless of direction.
B) The change in the object’s position.

C
D

) The speed of an object at a given moment in time.
)

The amount of time taken for an object to travel from one point to another.

What is the resultant of two displacement vectors having opposite directions?

A.

B.

The resultant is the sum of the two displacements, having the same direction as
the larger

The resultant is the difference of the two displacements, having the same
direction as the larger vector.

. The resultant is the difference of the two displacements, having the same

direction as the smaller vector.

. The resultant is the sum of the two displacements, having the same direction as

the smaller vector.

Mr. Adham Zewin - 0505084733
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Adam has started moving from point A, he passed the points B, C, D as shown in
the figure before he came back to point A. What is the displacement and distance
respectively?

A Aadidl 13aze 3920 O S8 K&JL 2us90 92 WS D,C,B bl 1hgye A dadill ;e 45,1 ¢_~.T1.1,+
T dladl (de pol lgalad gl ddluslly A=) Lo

B 5m C

-
3m 3m
1_ - v
A Sm D
Displacement Distance
A 16 16
B 0 34
C 16 34
D 0 16
t=0s ls 2s 3s 4s 5s
t=0sl1s 2s 3s 4s 5s
E N S N S -
pos=0m 10m 20m 30m 40m 50m seie siw ot st ==
pos=0m 2m 8 m 18 m 32 m 50 m
50 50
E 40 E40
£ 30 g 30
=20 =20
w 0
S 10} L S :
o : 0 ke :
0 1 2 3 4 5 0 1 2 3 4 5
Time (s) Time (s)
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10 15
- meters J
The time interval between 5mand 25 miis .......
A- 20s B-5s
C-4s D-25s

5-Depending on the figure, what is the dlsplacement for the runner after (6.0 s) from the
beginning of his movement?

O +25m
O —-25em

O +15m
O —15m

e A) Uniform motion

e B) Non-uniform motion

e C)Accelerated motion

e D) Circular motion

% time period 2.0 s between the two images
start o :

Mr. Adham Zewin - 0505084733
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Which particle dot diagram represents a boy moving with constant speed?

A

——

KEEE

REE R £

£ £ EEE

-
=

The figure below shows a simplified graph of a bicycle’s motion. When is the
bicycle’s speed greatest?

TASTdnhall de w0985 Jolpall 51 (3 Ldzlyd Ao Wapuw sy JUWI JS8J1 g

Greatest speed

O 0| w | >
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The graph below represents the (position- time) for a deer walking in the zoo.
During which time is the deer at rest?

5301 0583 ko) 8,8 81 3 bl it 3 sty 5 (s3] -pall) o] gomiall Ja
fLSLe
6 ,

Time range

x (m)

O 0 |w | >
(=}
|
N
(7]

. . . . 150.0 T
Which of the following is the right choice to
represent this motion in particle model diagram? g 10007
=
S 500
—
w
[=]
a 00 —t
t=50s t=00s 7.0
A) : : : —50.0 T
1250 m 0.0m
Time (s)
t=0.0s t=5.0s
B) & : - - :
0.0m 125.0 m
t=0.0s t=50s
150.0 m 0.0m
t=00s t=50s
D) :
1250 m 0.0m

Mr. Adham Zewin - 0505084733
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interval?

A truck is at a position of x=125.0 m and moves toward the origin x=0.0, as shown
in the motion diagram below, what is the velocity of the truck in the given time

b . JWl Jalasall (§ b g0 98 WS (x=0.0 JuoYl dlais sl x=125.0 m gdgall (o Al 2y
Flalaswall (e Badwall dueil) BN (§ s Lad) dgauiall dc i

END

t=5.0s

t=0.0s

o
®

ST.»\lﬂT

Youmay use the following equations

Ax = xp — x; —_ bDx _ XX
e V=0T
X=Vt+x g=lv_M—w
M ti—t

0.0 250 50.0

75.0 100.0 125.0 150.0

Position (m)

i —> (x)

vi

A 25m/s
B -25m/s
C 125 m/s
D -5m/s

Vi=vi+ @At x=x+vy+da?

=vi+2m—x) |

g=-9.8 m's*

Tluargo Loylud
A Stinb.—h.—bb—b-i—hi—u Aand B
B. St.art e . e e e e AandC
C. etot—0t—ot——tt—0t—0
st BandD
D. Lo L ot @4 @7 @4 @

The motion diagrams below show the motion of four busses moving along the x-axis.
Which busses have positive acceleration?

£l B! (ST .x (281 jammall Jsbo e o5 CMBL> o)l 45> AJWI 3yl olhalases pubgs
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How can the instantaneous acceleration of an object with varying acceleration be
calculated?

T Asia JM@J&MM‘&}W‘UW@L&S
-]
A. By calculating the slope of the tangent on a velocity-time
B. By calculating the area under the graph on a velocity-time graph
C. By calculating the slope of the tangent on a position-time graph

D. By calculating the area under the graph on a position-time graph

Which value of acceleration could be found from the tangent at point P?

§P daidl wis (wlaal oo oo Wkl (Sas £5luill dod i

Average velocity

v ' Instantaneous acceleration

Free fall

.U
O O |w | >

Centripetal acceleration

Which of the following best defines average speed?
e A)The total distance traveled divided by the total time taken.
e B)The change in velocity over a specific period of time.
e« C
e« D

) The maximum speed reached by an object during its motion.
)

The displacement of an object divided by the time taken.

Mr. Adham Zewin - 0505084733
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Which type of motion does the (position-time) graph below represent?

oLl (a3 ~adgall) Blad! punyll dlas 4S5, JSLET (4o (S

X —»

s
e

motion with constant acceleration

Motion with zero speed

Motion with zero acceleration

O 0 |lw | >

Motion with positive acceleration

An object that has negative acceleration is definitely doing what?

A. accelerating in a direction that is opposite to a stated positive direction.

B. slowing down
C. maintaining a constant speed
D. speeding up

The change in velocity during a measurable time interval, divided by the time

interval, is the

A. average velocity

B. instantaneous acceleration
C. instantaneous velocity

D. average acceleration

Mr. Adham Zewin - 0505084733
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marathon?

east
-

Velocity (m/s)

o
o |
3
]

E\'

The velocity-time graph below represents the motion of 5 runners in a free
marathon, which one of the runners changed his running direction during the

A ol e ST o> Ogihle Blw 3 onioludia 5 &8y> 06l pasl-de mal) Gl qunyll Jaao
Sogshlall sL31 (52l (3 cnlel

N
°

Velocity (m/s)
3

Change direction
A Runner D
B Runner E
C Runner C
D Runner B
—
0.0

Att=1.00 s the slope is 2.9 m/s?and att =5 s the slope is 0.030 m/s?

Which of the following is True

Poobd=

The object is moving with decreasing acceleration.
The object is moving with increasing acceleration.
The object is moving with constant acceleration.
The object is moving with zero acceleration.

Mr. Adham Zewin - 0505084733
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A car slows down at a steady rate when its brakes are applied. Which is the most
accurate plot of velocity versus time for the braking car?

Velocity v. Time Graph for the Braking Car

™95 1 15 2 25 3 35 4 45

Time {min)

Velocity v. Time Graph for the Braking Car
A) L ity P 4 B)
a0
sl
7 0
E Ex
£ =
8 ka 15
> =
0
5
2 0.5 1 15 2 25 3 s 4 45 o 0.5 1 15 2 25 3 35 9 45
Time {min) Time {min)
C) Velocity v. Time Graph for the Braking Car Dj Velochy v. Time Grnph. for the Bm'l““g Car
p
30
25
- g
E i 2ttt
Fy =
i £ 15
i s
=

05 1 15 2 25 3 a5 4 45

Time (min)

Which formula represents the final velocity of an object with average acceleration?

A)vi =vitalt
B)vi =vs+alt
Clve =vialAt
D)vi =vea At

Mr. Adham Zewin - 0505084733
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Arace car’s forward velocity increases from 4.0 m/s to 36 m/s over a 4.0-second
time interval. What is its average acceleration?

a.8.0m/s®> Forward
b.9.0 m/s®> Forward
c.9.0m/s*> Backward

d. 8.0 m/s*> Backward

The race car in the previous problem slows from 36 m/s to 15 m/s over 3.0 s. Whatis

its average acceleration?

a.7.0m/s®> Forward
b.9.0 m/s®* Forward
c.9.0m/s*> Backward

d.7.0m/s*> Backward

A bus takes a time t to stop If a bus took twice as long to stop, how would its
acceleration be affected?

A
B
C
D

The acceleration would double.

The acceleration would remain the same.
The acceleration would be halved.

The acceleration would be zero.

~ - ~— ~—
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G10 Gen Physics Final Revision duilgdl) daa) jall — sl 3udll T1-2024 - 2025

A car slows down in a constant rate of 10.0 m/s”, If the car’s velocity is 50.0 m/s, how
many meters will it travel before it completely stops?

Syl lgaladi I ddluall Lo ¢50.0 m/s B! de n <3613 ¢ 10.0 m/s? Sabew ol Juaay EJL_J..,LbL_..G
TLE Cadqn of b

e
S s -

50 mfs
A TaT

distance
A 200 m
B 125 m
C 250x10°m
D 250 m

A car travels a distance in 6 s, if its initial velocity is 2 m/s and its acceleration is
2 m/s?, how far does the car travel?

b 2 m/s? gesludy 2 m/s dsluisdl dgamiall Lgic aw OB 13] 66 5 S5 ddluns §)las alais
T8ylaaad | Lgiadad ) ddLcall

distance
Ax = xp — x; =X _X X
At -1 A 14m
x = vt + X g=v """
At =t B 24m
— — 12
vi=Vvit+alAl  x=x+vi+ag c 48 m
'.-"12 = '-"F + 25‘(“7 = Xi) g=-9.8 m/s D 12m
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A car starts from rest and goes down a hill with a constant acceleration of 5 m/s”.
After 5 s the car reaches the bottom of the hill. What is the car’s final speed?

15 5 s Blaad ! Juad .5 M /5% Gl ol §)luaiy sdoin e Jargis 055l oy Al Bylws TS
§ 40! Bylea 6 s Lo il 8

—
inal spee
Ax = xp — x; F:M_Xf_xi P
T At Gt
A 25m/s
X =Vt + x g=lv_Vi—V
£t B 50 m/s
vi=v;+ alt xf=xi+v,-tf+%5tf C 10 m/s
2__ .2
Vi =V, +25(X1—Xi] g=-9.8 m/s? D 1 m/s

A carin a drag race started from rest and accelerated constantly to a velocity
of 50 m/s when it reached the end of a 500 m road. What was the car's
average acceleration?

Lois 50 M/s ds mudl sl O ] Colb Jiasy £oluiSs 0gSadll (10 d5,2d! (Blww Bl 105
T8)bal] awwgial) £l Lo 500 m dgb @ayb Blgs J] Sl Cusy

You may use the following equations

Ax = xp — Ax _ Xi— X

X =vt+x g=lv_

vi=v;+ alt XF:xu+V.f[+%Ef[I

-vf‘ = '.-'Iz + 2alx; — x;) -

9= 98 mi’ Average acceleration
A -2.5m/s?
B 0.5 m/s?
C 2.5 m/s?
D -0.5m/s?
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A construction worker accidentally drops a brick from a high scaffold. What is the
velocity of the brick after 5.0 s7?

95.0 5 day Al dgasiall de i Lo Adle Aliw pe Uasdl k) sliy Jole e wighall e LB Jaie

You may use the fellowing squations

Ax = xp — xy —_ Ax _ Xi—X
T V=0T -0
x:Fr—l—x. __ﬂv Vi— Vi
| g=—=
I II_EI
— T
Vi=V; +alt x=x+ V.![+3at,2

v = v + 20 — x))

g=-9.8 m's*

velocity
A -49 m/s
B 49 m/s
C 2m/s
D -2m/s

550
500
450
400
350
300
250

Position (m)

The (position-time) graph below shows a cyclist’s location in a 60s-time interval.
What is the cyclist’s displacement from the starting position after 40.0 s?

Ayl 81 A=) b 605 (g0) Jrold (3 d2lpd <Shy aBga 06T (a3ll-aB3all) Gl s g2
TaS,mdl ey e Al 40,0 da Llud) dlads e

200
0.0 10.0 20.0 20.0 40.0 50.0 &0.0

Time (s)

Displacement
A 200 m
B 400 m
C 450 m
D 250 m
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As a ball falls towards the ground, what happens to its speed? (Ignore air
resistance)

(gl daglie Jabl) Tlgic ad Gt 13le i )1 g 5,5 Jaitd Laiy

Speed
A increases
B decreases
C Stay constant
D Becomes zero

Yousef is learning to ride a bike. His father pushes him with a constant acceleration
for 4.0 s, and then Yousef continues at 6.0 m/s for another 5.0 s before slowing
down until he completely stopped after 3 s. What is Yousef’s displacement in the
first 9 s?

6.0 e ) Ayl Ciangy yaiaaw @3 64,0 5 Bkad ol §)luis ol dadly Azl LgS) o gy las
FaSymdl s 140 9 5ty Liwgs A1l L .3 5t Waled Litbgis g Uoldy Of L (5,31 5.0 5 8) m/s

Velocity Time Graph

? B Displacement
6 7 \
zs i A 6vm
g 4 A _'/'
Mo & B 51 m
2 * s
1/ C 30m
' o 1 2 3 4 5 6 7 8 9 10 11 12 13 14
Time (seconds) D 42 m

Mr. Adham Zewin - 0505084733



G10 Gen Physics Final Revision duilgdl) daa) jall — sl 3udll T1-2024- 2025

Omar Abdulrahman in a match representing his country UAE kicked the ball vertically
upward. What is the direction of the ball’s velocity and acceleration while going up in the
Air?

Y Gl 5 381 Sy ) Jla¥) oy quiila Lgd Jiay B jlaa (8 Cran 3 jee e Al

951 54l A L3 gra s L Lgilac 95 Sl Ao i ola) L

. . . Acceleration
Velocity direction . .
direction
A
A
v
A A
B
C
\ 4 v
A
D
v

Kareem drops three balls with different masses from the same height. Which ball
has the greatest acceleration? (Ignore air resistance)

daglin Jonl) §8)lud ST g 8)S ST g5V Huis (o dalises JiS1g) yS EM 0)S Jadug

(s158)!
Qo

The red ball

The blue ball

All balls have the same acceleration

O 0| w | >

The yellow ball
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Which position-time graph has a speed of +5 m/s ?

O a) O B
20m 20m
£
§ 5
8 3
a 1om & 10m
5s
Time 55
Time
O ¢
20m O p)
20M f——
=
o
=
:
a 10m S
& 10m
5s
Time 5s
Time
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Written part

Position v. Time
Where was runner A located at t =0 s?

200+
|
150 + i
Which runner was ahead at t = 48.0 s? |
— 100+ |
£ |
= A |
:_g 50 B :
When runner A was at 0.0 m, where was runner B? E |
0 L e e e e B L
/ 15 25 35 45 55
—50 -
How far apart were runners A and B at t=20.0 s? el
Time (s)
The graph describes the motion of a cruise ship drifting South
slowly through calm waters. The positive x-direction Time (s)
—_ 1 2 3 4
(along the vertical axis) is defined to be south. E o t+—+—+—+—
S
a. What is the ship’s average speed? ;_3 =l
-2 +

b. What is its average velocity?

Describe, in words, the cruise ship’s motion in the previous problem.

What is the average velocity of an object that moves from 6.5 cm to 3.7 cm relative
to the originin 2.3 s?
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The graph in represents the motion of a bicycle.

a. What is the bicycle’s average speed?

b. What is its average velocity?

Position v. Time

/

7

/

Position (km)
=)

4

NV

5 10 15 20 25 30
Time (min)

Find the distance travelled and displacement if the object moved from 1 to 2 then

backto 3

34—

« B"
- i‘ e

di <

Distance

Displacement

15

meters

Mr. Adham Zewin - 0505084733




G10 Gen

Physics Final Revision

il danyall — ol ) T1-2024 - 2025

X, =25 km
—
D A B C
o * o ®— East
Origin

The diagram at the right shows the path of a ship that sails at a constant velocity of
42 km/h east. What is the ship’s position when it reaches point C, relative to the
starting point, A, if it sails from point B to point C in exactly 1.5 h?

Let east be the positive direction.

Another ship starts at the same time

from point B, but its average velocity is 58 km/h east. What is its position, relative
to A, after 1.5 h?

Let east be the positive direction.

What would a ship’s position be if that ship started at point B and traveled at an
average velocity of 35 km/h west to point D in a time period of 1.2 h?
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6.0
Using the following graph find ‘E
E 40 A
o
'©
The displacement of car A after 3 s % 2 B
—

0.0 1.0 20 3.0 4.0
Time (s)

The displacement of car A after3 s

A skateboarder is moving at a constant speed of 1.75 m/s when she starts up an incline
that causes her to slow down with a constant acceleration of —0.20 m/s?. How much
time passes from when she begins to slow down until she begins to move back down
the incline?

A race car travels on a straight racetrack with a forward velocity of 44 m/s and slows at
a constant rate to a velocity of 22 m/s over 11 s. How far does it move during this time?
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A car with an initial velocity of 24.5 m/s east has an acceleration of 4.2 m/s? west. What
is its displacement at the moment that its velocity is 18.3 m/s east?

A man runs along the path shown in Figure.

5 / Estup

A - 3 — 0.050 m/s?
start v=45 m;’s

From point A to point B, he
runs at a forward velocity of 4.5 m/s for 15.0 min. From point B to point C, he runs up a
hill. He slows down at a constant rate of 0.050 m/s? for 90.0 s and comes to a stop at
point C. What was the total distance the man ran?
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Zayed cycles on a straight road near his house. After some time, his brother Ali also starts

cycling. Their motions are represented by the position-time graphs given below.

a. How long had Zayed been cycling when Ali started 28

cycling?

b. What is the position at which Ali crosses Zayed?

c. What is the difference between their positions after 5 s?

32

Position (m)
&

Ali

Zayed

|
|
{
|
|
|
|
!
|
[

4 6 8
Time (s)

10
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Two cars travel along a straight road. When a stopwatch reads t = 0.00 h, car A'is at x, = 48.0 km
moving at a constant speed of 36.0 km/h. Later, when the watch reads t = 0.50 h, car B is at x, =
0.00 km moving at 48.0 km/h. Answer the following questions, first graphically by creating a
position-time graph, and then algebraically by writing equations for the positions x, and x, as a
function of the stopwatch time, t.

a. What will the watch read when car B passes car A?

Position v. Time
300

250

200

150

Position (km)

100
50l
Z

—1.00 0.00 1.00 2.00 3.00 4.00 5.00 6.00 7.00
Time (h)

Cars pass when the distances are equal, x, = x,
x, = 48.0 km + (36.0 km/h)t

and x, = 0 + (48.0 km/h)(t — 0.50 h)

so, 48.0 km + (36.0 km/h)t = (48.0 km/h)(t — 0.50 h)
(48.0 km) + (36.0 km/h)t = (48.0 km/h)t — 24 km

72 km = (12.0 km/h)t

t=6.0h

b. At what position will car B pass car A?
x, = 48.0 km + (36.0 km/h)(6.0 h)

= 2.6 X 10°km
c. When the cars pass, how long will it have been since car A was at the reference point?
x=vt
_Xx_—48.0km _ _
SOt=V=3§.0kmmh  1=2h

Car A started 1.33 h before the clock started.
t=6.0h+133h=73h
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A cyclist traveling along a straight path maintains a constant velocity of 5.0 m/s west. At time
t = 0.0 s, the cyclist is 250 m west of point A.

a.

Plot a position-time graph of the cyclist’s location from point A at 10.0-s intervals for a total time

of 60.0 s.

Position v. Time

200 400 600
Time (s)

What is the cyclist’s position from point A at 60.0 s?
Let west be positive.

X =Vvt+x
= (5.0 m/s)(60.0 s) + 250 m
=550m
x = 550 m west

What is the displacement from the starting position at 60.0 s?
550 m —250m=3.0 X 10°m
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The graph below represents the velocity-time variation of a car’'s motion.

35 y (m/s)

30

25

20

15

10

t(s)
0 5 10 15 20 25 30 35 F4CJ

Use the graph to find:

a. The acceleration of the car between t=0 s and t=5s.

b. The acceleration of the car between t=5s and t=10 s.

c. The acceleration of the car between t=20 s and t=30 s.
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